Math 143
Homework Assignment #8

Due Tuesday 11-30-10
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a. Graph f.

b. Find the domain of f.

c. Find the image (range) of f.

d. Show that f  is one-to-one.

e. Find a rule for 
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f. Graph 
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g. Find the domain of 
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h. Find the image (range) of 
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2. If a function f  has an inverse function, then the graph of 
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 may be obtained by reflecting the graph of f  across the line with equation ____________ .
3. If a function f  has an inverse function and f (-3) = 6, then 
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4. Suppose f (x) is the number of cars that can be built for x dollars.  What does 
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represent?

5. Let b be a positive real number, with b ≠ 1.  Consider the exponential function with base b, 
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a. Graph these functions on the same pair of axes:  
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b. For which base values b is 
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 an increasing function?  For which base values b is 
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c. 
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 is one-to-one.  Give a formula for its inverse function, 
[image: image15.wmf])

(

1

x

f

-

.

d. Find the domain and range of 
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e. Find the domain and range of 
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f. The graph of 
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 has a horizontal asymptote; find its equation and tell why it's an asymptote for the function.

g. The graph of 
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 has a vertical asymptote; find its equation and tell why it's an asymptote for the function.
6. Recall some basic facts about the function 
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, where b is a positive real number with b ≠ 1.
a. By definition, 
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b. The domain of 
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c. The range of 
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d. 
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e. 
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f. 
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g. 
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h. 
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i. 
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j. 
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 is an increasing function when ...

k. 
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7. For each statement, write an equivalent statement in logarithmic form.

a. 
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d. 
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8. Consider the function 
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a. Find the largest reasonable domain for f.

b. Find the range for f.

c. Find 
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9. Do #23.9.b, p.204.

10. Do #23.9.e, p.204.
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